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Almost perfect sequence

Perfect sequence: =& s= 00| Ottt O CHSHY C4(7) = 0 O™ Perfect sequenceO|Lt.

gk 2|0 2] Almost perfect sequence&82|: =€ s= 24 F7H9| = X|2[5t2
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Cs(r) = 00| H Ho| 2t =HO|L},




Almost perfect sequence

9| 1 (Almost perfect sequence).
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0! RDS2| S/d+9E: Example
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Relative difference set

9| 2(Relative difference sets)

A8 L= u,v, kA . Zyy 2 kK702 RAE Z#= BE28E D ={d,,d,,..,d,}0| CIS= TtFA|Z7|H

I. {dl — d] |dl * d], for d;, d] € D} = Zyy\ UZyy

[I. For any d € Zy,\ UZyy,, |[D N (d + D)| = A.
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I.|(c+D)n(d+D)|=A

. If c =0, then|(c+D)ND| =0

V. u—1DvA=k(k—1)




.m: Relative Difference Set Example

= D={17, 31, 32, 39, 44, 48, 50, 73, 76} isa (u=10,v =8k =9, 1= 1)-RDS
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.m: Relative Difference Set Example

= D={17, 31, 32, 39, 44, 48, 50, 73, 76} isa (u=10,v =8k =9, 1= 1)-RDS
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Counting in two ways (D: # of possible (d; — d;) x # of solution of (d; — d;=d)

=|Zgo\10Zgo|X 1= (u — 1)vA=72

(2): # of coordinates except for the diagonal
=k(k—1) =72




Relative Difference Set Example:

= D={17, 31, 32, 39, 44, 48, 50, 73, 76} isa (u=10,v =8k =9, 1= 1)-RDS
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Relative Difference Set Example:

= D={17, 31, 32, 39, 44, 48, 50, 73, 76} isa (u=10,v =8k =9, 1= 1)-RDS
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Relative Difference Set Example:

= D={17, 31, 32, 39, 44, 48, 50, 73, 76} isa (u=10,v =8k =9, 1= 1)-RDS
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.m: Relative Difference Set Example:

= D={17, 31, 32, 39, 44, 48, 50, 73, 76} isa (u=10,v =8k =9, 1= 1)-RDS
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5,15, 25, 35,45, 55, 65,75

D 10+ D 20+ D

17,31, 3,6, 13,16,
32,39,44, 27,41,42, 37,51,52,
48,50, 49,54, 59,64,
73,76

26,47,01,
62,69,

40+ D

4,8,
10,33,36,
57,71,
72,79

19,24,28,
30,53,
56,77

22,29,34,
38,40,
63,66
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D+20={11,12,13,16,19,24,28,30,37 },| | D+30={0,7,21,22,23,26,29,34,38} |
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RDS2| E+E
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Correlation absolute value
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